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Spring 2003

Solutions to Midterm 2 Review Sheet

1. Net worth is 100-60=$40. Net worth ratio is 40/100=0.4. Debt-to-equity ratio is 60/40=1.5. Gap is 30-40=-10. Thus the change in the bank’s profit is –10*0.02=-$0.2.

2. Gap is zero. Thus according to Gap analysis, the change in the bank’s profit is zero. Percentage change in market value of fixed rate assets is –(-0.05)*4=0.2 and percentage change in market value of fixed rate liabilities is –(-0.05)*2=0.1. So the resulting market value of fixed rate assets is (1+0.2)*80=$96 and that of fixed rate liabilities is (1+0.1)*50=$55. Therefore, the resulting net worth is 96-55=$41.

3. The Bank Holding Act of 1956 defined a bank as a financial institution that accepts deposits and makes loans. If bank holding companies opened limited-service banks that either took deposits but did not make commercial loans or did not take deposits but made commercial loans, these so-called non-bank banks were not subject to inter-state branching restrictions. This was the loophole. The Competitive Equality Bank Act passed in 1987 closed this loophole. (See p254)

4. Monetary base is the sum of the monetary liabilities of the Fed and the U.S. Treasury’s monetary liabilities. (See p394)

5. The change in the balance sheet is as follows.

	Assets
	Liabilities

	+$100
	+$100


6. The expected return is 0.6*100+0.4*20=$68. The standard deviation is {0.6*(100-68)^2+0.4*(20-68)^2}^(1/2)={614.4+921.6}^(1/2)=39.19.

7. The overall portfolio return in each state can be written in the table below. Therefore the expected return is 0.4*65+0.6*70=26+42=$68. The standard deviation is {0.4*(65-68)^2+0.4*(70-68)^2}^(1/2)={3.6+1.6}^(1/2)=2.28.

	
	State A
	State B

	Portfolio’s return
	$65 (=0.5*50+0.5*80)
	$70 (=0.5*100+0.5*40)

	Probability
	0.4
	0.6


8. Let x be a proportion of Asset 1 in your portfolio and y be a proportion of Asset 1 in your portfolio. Accordingly, 1-x-y is a proportion of Asset 3 in your portfolio. Given x and y, the return of your portfolio in state A is $200x, the return of your portfolio in state B is $100y, and the return of your portfolio in state C is $400(1-x-y). In order for the standard deviation of the portfolio to be zero, we must have 200x=100y=400(1-x-y). From these equations, we can get x=2/7 and y=4/7.

9. 1/0.2=5.

10. See p392.

11. See p392.

12. In the payoff method, the FDIC allows the bank to fail and pays of deposits up to the $100,000. In the purchase and assumption method, the FDIC reorganizes the bank, typically by finding a willing merger partner who assumes (takes over) all of the failed bank’s deposits so that no depositors loses a penny. It means that the in the purchase and assumption method FDIC guarantees all deposits, not just under the $100,000 limit, as opposed to the payoff method. (See p281)

13. Board of Governors, Federal Reserve Banks, Federal Open Market Committee, Federal Advisor Council, and member commercial banks. (See p370)

14. See the answer for problem #4 of week 9 questions, which is on the web.

15. Regulation Q is the regulation under which the Federal Reserve System had the power to set maximum interest rates that banks can pay on savings and time deposits. This was imposed by Banking Act of 1933 (Glass-Steagall Act) and phased out by Depository Institutions Deregulation and Monetary Control Act (DIDMCA) of 1980.

16. McFadden Act of 1927 prohibited banks from branching across state line. Riegle-Neal Interstate Banking and Branching Efficiency Act of 1994.

17. The discount rate is the interest rate that the Federal Reserve charges banks on discount loans. The interest rate that banks make loans to one another of their deposits at the Federal Reserve.

18. Eurodollar is U.S. dollars that are deposited in foreign banks outside the United States or in foreign branches of U.S. banks. Edge Act corporation is a special subsidiary engaged primarily in international banking. International banking facilities (IBFs) are banking establishments in the United States that can accept time deposits from foreigners but are not subject to either reserve requirements or restrictions on interest payments.
19. Securitization is the process of transforming illiquid financial assets into marketable capital market instruments.
20. Junk bonds are bonds with ratings below Baa (or BBB) that have a high default risk. Fallen angels are long-term bonds with credit rating below Baa that were issued by firms when their credit rating was above Baa.

21. See pp61-262.

